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  
 SOCIAL SCIENCE 

  4  15  
  80 

 

      
GENERAL INSTRUCTIONS TO THE EXAMINEES : 
(1)    -       
 Candidate must write first his / her Roll No. on the question paper compulsorily. 
(2)        
 All the questions are compulsory. 
(3)       -      
 Write the answer to each question in the given answer-book only. 
(4)      ,           
 For questions having more than one part, the answer to those parts are to be written 

together in continuity. 
(5)           
 Scores of questions mark before them. 

(6)   28        -      
 Question No. 28 is related to map-work. Attach map with answer-book. 

(7)   26  28       
 There are internal choices in Question Nos. 26 to 28. 
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    (  1 ) 

 Multiple Choice Questions : (Each question carries 1 mark) 

1. (i)       ,    

  ()  ()  

  ()  ()  

  It is the country where nationalism started 

  (A) Germany (B) France 

  (C) England (D) Italy 1 

 

 (ii) 18          

  ()  ()  

  ()  ()  

  It was the largest center of world trade in the 18th century 

  (A) America (B) Europe 

  (C) Africa (D) Australia 1 

 

 (iii)        ?  

  () 1919  () 1925  

  () 1929  () 1931  

  In which year did the Great Depression begin ? 

  (A) 1919 (B) 1925 

  (C) 1929 (D) 1931 1 
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 (iv)             ?  

  ()  ()  

  ()  ()  

  Where was the first printed edition of Ramcharitmanas written by Tulsidas 

published ?  

  (A) Jaipur (B) Bombay 

  (C) Madras (D) Calcutta 1 

 

 (v)       ?  

  ()    ()   

  ()   ()   

  Who published Punjab Kesari ? 

  (A) Bal Gangadhar Tilak (B) Mahatma Gandhi 

  (C) Rabindranath Tagore (D) Bhagat Singh 1 

 

 (vi)              ?  

  ()  ()  

  ()   ()  

  In which of the following states are red and yellow soils found ?  

  (A) Rajasthan (B) Gujarat 

  (C) Madhya Pradesh (D) Orissa 1 
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 (vii)         ?  

  ()  ()   

  ()  ()  

  Which of these is a Rabi crop ? 

  (A) Rice (B) Millets 

  (C) Gram (D) Cotton 1 

 

 (viii)          ?  

  ()  ()  

  ()  ()  

  Belgium is a small country of which Continent ? 

  (A) Asia (B) Europe 

  (C) America (D) Africa 1 

 

 (ix)      -      

  ()  ()  

  ()  ()  

  The number of nationally recognized parties in India is 

  (A) Five (B) Six 

  (C) Seven (D) Eight 1 
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 (x)       

  ()   ()  

  ()  ()  

  The party system in India is 

  (A) One Party (B) Multi Party 

  (C) Two Party (D) Alliance  1 

 

 (xi)              ?  

  ()  () - 

  ()  ()  

  Which of the following economic activities does not come under tertiary 

sector ? 

  (A) Banking (B) Bee-keeping  

  (C) Teaching (D) Transportation 1 

 

 (xii)       

  ()   ()   

  ()   ()   

  What is called Industrial area ? 

  (A) Primary Sector (B) Secondary Sector 

  (C) Tertiary Sector (D) Quaternary Sector 1 
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 (xiii)          

  ()   

  () / 

  ()       

  ()   

  What comes under the terms of the loan ?  

  (A) Interest rate 

  (B) Collateral 

  (C) Documentation requirement and the mode of repayment 

  (D) All of the above   1 

 

 (xiv)            

  ()   ()   

  ()    ()       

  Who does the work of issuing currency in India ? 

  (A) State Governments (B) Central Government 

  (C) Reserve Bank of India (D) None of the above 1 

 

 (xv)              

  () 24  () 21  

  () 25  () 22  

  National Consumer Day is celebrated every year in India on 

  (A) 24th December (B) 21st December 

  (C) 25th December (D) 22nd December  1 
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2.       

 Fill in the blanks : 

 (i)          _________    ( / 

) 

  After coming to India Gandhiji launched _______ movement at many 

places. (Non-Cooperation / Satyagraha)   1 

 

 (ii)    ______      ( / ) 

  Periyar Tiger Reserve is located in the State of _______. (Kerala / 

Karnataka)   1 

 

 (iii)    ______       ( / ) 

  India is the _______ largest producer of sugarcane. (Second / Third) 1 

 

 (iv)       _______       ( / ) 

  The Constitution has prohibited any kind of _______ discrimination. 

(Linguistic / Caste)   1 
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 (v)    ______         (164 / 160) 

  About _______ countries of the world are members of the World Trade 

Organisation. (164 / 160)   1 

 

  -1  (  1 ) 

 Very Short Answer Type Questions-1 : (Each question carries 1 mark) 

 

3.        ? 

 Who was the author of the book Hind Swaraj ? 1 

 

4.      ? 

 What is unclassified forest ?   1 

 

5.          ? 

 Which is the major wheat producing state of India ?  1 
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6.           ? 

 When was Sinhali language declared the official language of Sri Lanka ? 1 

 

7.             ? 

 Which form of social inequality appears everywhere ?  1 

 

8.        ?  

 Who was the founder of Bahujan Samaj Party ? 1 

 

9.           

 Give two examples of Service Sector.   ½ + ½ = 1 

 

10.          ? 

 Why is currency called a medium of exchange ? 1 
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11.       ? 

 Between whom does foreign trade takes place ?  1 

 

12. RTI      

 Write full form of RTI.   1 

 

  -2  (  2 ) 

 Very Short Answer Type Questions-2 : (Each question carries 2 marks) 

 

13.          ? 

 What inspiration did Gandhiji give to the farmers in Champaran ? 2 

 

14.     ? 

 Who was Martin Luther ?   2 

 

15.        

 Suggest two measures for soil conservation.  1 + 1 = 2 
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16.          

 Write any two functions of a Political Party.  1 + 1 = 2 

 

17.        ? 

 What do you understand by unorganized sector ? 2 

 

18.          ? 

 What do you understand by Secular State in India ? 2 

 

19.          ? 

 What do you understand by formal source of credit ? 2 

 

    (  3 ) 

 Short Answer Type Questions : (Each question carries 3 marks) 

 

20.    ?  

 What is Conservatism ?   3 
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21.    ?       

 What is a dam ? Explain the purpose of its construction. 3 

 

22.       

 Explain the importance of border roads.   3 

 

23.    ?   

 What is transparency ? Explain.   3 

 

24.             ? 

 On what basis are different countries or states compared ? 3 

 

25.       ?    

 What do you understand by Globalization ? Explain. 3 

 



 13 

S-124-Social Science (D&D)  [ Turn over 

    (  6 ) 

 Essay Type Questions : (Each question carries 6 marks) 

 

26.                 

    ? 

 What did the East India Company do to ensure regular supply of cotton and silk 

fabrics from Indian weavers ?   6 

/OR 

            ?  

 Why did India’s industrial production increase during the First World War ?  

 

27.       

 Write the characteristics of Indian Union.  6 

        /OR 

                  ? 

   

 In how many parts are legislative powers divided between the Central and State 

Governments in India ? Explain.   
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28.     -      : 

 ()   ()  

 ()  ()  

 ()  ()  

 Mark the following in the given outline map of India : 1 + 1 + 1 + 1 + 1 + 1 = 6 

 (A) Narora (B) Rawat Bhata 

 (C) Tarapur (D) Kaiga 

 (E) Talcher (F) Barauni 

                           /OR 

     -      : 

 ()   ()  

 ()   ()  

 ()  ()  

 Mark the following in the given outline map of India : 1 + 1 + 1 + 1 + 1 + 1 = 6 

 (A) Noida (B) Jaipur 

 (C) Pune  (D) Bengaluru 

 (E) Hyderabad (F) Guwahati 

______________ 
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